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QI A teacher uses a database to store the marks of pupils from all year 9 classes.
PUPIL and CLASS are two entities usaed in this database.

The data for the first four pupils in the PUPIL table is shown below.

PupilNumber | Surname | FirstName ClassCode
AD1 Adams Michelle DK
AD2 Ali Mohammed | 9BH
AD3 Al Shirelle 9DK
AD4 Azor Michelle oFT

(i) State the primary key for the PUPIL table and explain your answer.
P I A Y KB ettt e [1]

Explanation

Q2 The database also contains a CLASS table. The primary key for the CLASS table is

ClassCode.

Explain why ClassCode has also been included in the PUPIL table.

Q3 Describe what is meant by an array.




**Copyright Disclaimer: All materials used in these free 6-a-day resources are taken from past OCR GCSE Computing Exams — The OCR

exam board owns the copyright for these exam questions — questions have been used with their permission***

The questions on this worksheet have been taken from the OCR GCSE Computing January 2011 Paper

Q4 Describe tools and facilities available in an integrated development environment (IDE) which
can help the programmer to identify and correct syntax errors.
______________________________________________________________________________________________________________________________________________ [4]

Q5 Explain how ASCIl is used to represent text in a computer system.
______________________________________________________________________________________________________________________________________________ [3]

Q6

Unicode is also used to represent text in a computer system.

Explain the difference between the character sets of Unicode and ASCII.




